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The above is correct as it is widely used in our industry but it is just assumed 
and I struggle to find anyone being able to explain to me.  
 
I have demonstrated back equation 8.11 but I wrote it in a different way as 
follow: 
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It is equivalent. 
However I am struggling to understand how k factor (equation 8.14) is 
obtained. This factor is the same as used in IEC60909.  
In the standard I am working everyday, we are talking of the following table 
here attached: 
 

 
This time n is used to calculate the minimum peak that the equipment shall be 
tested to, which a function of the declared RMS current we have designed the 
equipment for.  
 
I am trying overall to establish the link between k and n. Could anyone 
help me? 
 
Thank you.  


